White

Count in fractions

0
0 Complete the number lines. ‘)

a) 27 12 7 2
0 | | 7 7 1
2 3 11X | | | | 1 |
5 5 5 2
| | | | | | 1=
| | | | | | 5
111 T 11 [TTTT1 [TTTT]
o Write the next three fractions in each sequence.
b
! 2 3 @+ 23
1= 1= ' e
| | | |4 |4 2| v
| 1 1 1 1 | i 2 3
[ [TTT11 [TTT11 1111 4' 4' 4
B 11 O] 1111
13 .1
) 2 4 Vg7
° Complete the number lines. : 5
a) d) 4, 33, 23...
2 3 4 7 What is the missing fraction?
3 3 3 3 ° I
I I I | I I Give two possible answers.
2 1 12 2 a8, 12 16 20 | | 28 32
3 3 3 3 3 3
b
) by 8, 12, 16, 20, 28 32
5 5 5 5 5 5
3 5 9
! / | ! | , 98, 12 16 20 | | 28 32
| | | | | 7 7 7 7 7 7
3 5 2 4
7 7 17 17
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Count in fractions

0
o Amir, Dexter and Dora are counting in fractions.
27 12 7 2
R NN S DR
| | | | | | 10 10 10 10
2
1=
5

o Write the next three fractions in each sequence.

a) l, 3, i...
8’ 8' 8
bl 2 2.
) % % 1%
d) 4, 3%, 2%

° What is the missing fraction?

Give two possible answers.

a) 8, 12, 16 20, .28 32
373 3 3 3° 3
b) 8, 12, 16, 20, , 28, 32
5 5 5 5 5 5
o 8, 12, 16, 20, , 28 32
77 7 77

The next fraction

is 12
10

Amir

i€
©)

The next fraction

is 12
10

)

Dexter
The next fraction

is 11
5

Dora

a) Who is correct?

Explain your answer.

b) Compare answers with a partner. @
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